log AL Leuchtdichte-Diffenz- —
e e L g6, scan

- 04 0,1&26s A 6,3cd/f hyp2

A e e —
-2 -1 0 1 2 X=logL




log(L/AL) Leuchtdichte-Kontregt-—
O e ot oat ot 3cdlint

- 04 0,1&26s A 6,3cd/f hyp2

e —— ] —
2 -1 0 1 2 x=logL




L/AL Leuchtdichte-Kontrast- -
Empﬁnol|ichkeitsschweii\‘r9‘6'3°d’""2

40+ 04 0,1&26s A 6,3cd/f "y~

30T

20--

10--

() e o o
-3 -2 -1 0 1 2 X=logL




T* Leuchtdichte-Diffenz- -
renzschwellensumme L g6 3can

807 04 0,1&26s A 6,3cd/f hyp2

60T

40t

20--

(1] e e s S T

-3 -2 -1 0 1 2 X=logL




